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1. 2 & X2 +xy* —x’y“ 7y =0 L- I &pgs e

(1) #+% a2 @ - (6%)
(2) @ Fp s > 2 fRy(X) =" (6%)

2. LA R EGE LR T WA 2 AR5
(1) @-x3)y' =1+y> (x==xl) (7%)

(2) 2xyy'=y*>—x* (T%)
(3) By—-7x+7)dx+(7y—3x+3)dy =0 (7%)

dy

3. © s 2 25N 5 xsin yd—+2cosy = —4x°
X

(1) A > 423 5 SUH R 2LEE? (3%) 3 01— FESUME A2 o (8%)
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(2) A 2 A2 5 & (exact) & 2h £ (3%) vl £ KfE o (8%)
(&> Ei&—]‘\ﬁ*;*’?b_ﬁg s L f AL TS > L AfE)

v

4, © Fopeh > 450 5 3L+ X))y + 2xy = 2xy’
(1) ¢+ % P AAFA 2 s 2 42502 (3%) 5 A 2Ea i ? (3%)
(2) # Fptiem > 502 f2y(x)=? (5%)

5. % - Clairauts fig~ = 4255 y=xy'—— > 3R s > f2.40d f2(general
y

solution)£2 # fz(singular solution) - (10%)

6. FfET A L pA S AR
(1) ﬂ:—e‘xy2+y+ex (8%)
dx
(2) (2x® —xy® —2y+3)dx—(x’y+2x)dy =0 (8%)

(3) x%— y =x°cos2x (8%)
X
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